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4 [=VLOOKUP(LEFT(B4,1) SL$3:5N$6,3,FALSE) =VLOOKUP(MID(B4,2,1),$L$9:$N$11,3,FALSE) =VLOOKUP(RIGHT(B4,1),$P$4:$R$8,3, FALSE) 3 [=SUM(F4:H4)*14
5 [=VLOOKUP(LEFT(B5,1) SL$3:5N$6,3,FALSE) =VLOOKUP(MID(BS,2,1),$L$9:5N$11,3,FALSE) =VLOOKUP(RIGHT(BS5,1),$P$4:$R$8,3, FALSE) 5 [=SUM(F5:H5)"I5
6 |[=VLOOKUP(LEFT(B6,1),$L$3:5N$6,3,FALSE) =VLOOKUP(MID(BS,2,1),$L$9:5N$11,3,FALSE) =VLOOKUP(RIGHT(B6,1),$P$4:$R$8,3,FALSE) 4 [=SUM(F6:H6)*I6
7 [=VLOOKUP(LEFT(B7,1) $L$3:5N$6,3,FALSE) =VLOOKUP(MID(B7,2,1),$L$9:$N$11,3,FALSE) =VLOOKUP(RIGHT(B7,1),$P$4:$R$8,3, FALSE) 8 [=SUM(FT:H7)"I7
8 [=VLOOKUP(LEFT(BS,1),$L$3:5N$6,3,FALSE) =VLOOKUP(MID(BS,2,1), $L$9:5N$11,3,FALSE) =VLOOKUP(RIGHT(B8,1),$P$4:$R$8,3,FALSE) 7 |-sum(Fs:H8)*i8
9 [=VLOOKUP(LEFT(B9,1),$L$3:5N$6,3,FALSE) =VLOOKUP(MID(B9,2,1), $L$9:$N$11,3,FALSE) =VLOOKUP(RIGHT(BY,1),$P$4:$R$8,3, FALSE) 1 [=SUM(F9:H9)*I9
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